











Ch 3 Review

ex: Simplify.
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ex: Simplify.
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ex: Given:
f(x)=x*-9  g(x)=Vx+2

h(x)=x—l m(x) 6x~

Find the expression and the domain.
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ex: Given:
f(x)=x"=-9  g(x)=vx+2

h(x)=x—l m(x) L

.
6x " = 5

X

Find the expression and the domain.

a(m-f)) = e -+ 0 D{xlxtng




ex: Given:
f(x)=x"=-9  g(x)=vx+2

h(.r)=x—l m(x) 6x~

Find the expression and the domain.

A (fm)(x) = (Xz—q>§z
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ex: Given:

f(x)=x"-9 g(x)=m

h(.r)=x—l m(x)=6)c'2
Find the expression and the domain.
omef) = oL DKlxEs
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ex: Solve.

D\V2x+15-Vx+11=1



ex: Solve.

b) 3(x-2)"" +5=53



ex: Use the graph of f to find each value.
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©X* Which function is equivalent to its inverse?

2x —1
2

A f(x) =

3—Xx

B g(x) = 2

C h(X)=7—X

D j(X)=x—4



ex: Sketch and state the domain and range in interval
notation.

y==4Jx+2 -1



ex:
Which function does not have an inverse function?

A f(x)=2x+7
B f(x)=+x +12

C f(x)=6x+09

D f(x)=8-3x?



ex.

If f(x) = Jx2 —1and g(x) = Jx —1,
f(x)
g(x)

, for

which expression represents

x>1

A Jx




ex: Solve algebraically for x:

P pral 102 =Tre3




W 9
ne!’
-10-0
c
1S on
function is
' u
ich
ex.

1)
2)
3)
4)

42
=X
1((3«'));x3+22
f((;)=|X|+

o 5.
x)=x



ex: State the domain in set notation.

3x+1

o Vx-4
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ex.

The sum of 3/ 6a*? and 3/ 16242 , expressed in
simplest radical form, is

1) ‘?\/ 168a°h*

2) 2a*bN 21a%
3) 4a~ 6ab’

4) 10a*pi/8




ex: Find the inverse function, if it exists.
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